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@ |2 players participated in a swimming

. L1
computation, by how many ways can the |
1 d .
2™ and 3" places be arranged ?
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In the expansion of ( 2x + %.)'S Jind the
value of the term free of x then prove that
this expansion does not contain a term
containing x°.
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@ ~a+b - - ".I'. = | oL 3)
If " p3=x,""p, =y, then the least oo = 37 igmE ™ O 1)
value for the number | X-y Pl Al B e
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@ If the middle term in the expansion of J;Q‘-‘g’ S IS 13)
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@ It |Z| = |Z + 2|, then the real part of the | Yo El=1E |08 1L
complex number Z = Sl suall Rl el O
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@ The exponential form of the number 3aall £Y13) yuall
Z=2=23iis...... SENEST=E
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. 2 A .
If 1, w, @*are the cubic roots of one, then
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Answer one of the following items
a- Put the number 1 — V3i in the
trigonometric form, then find the square
roots of il.
b-1fZ = e

142
J : — l -
prove that : T—7 CU!
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e . v Y. AR WOt
@ Without expanding the determinant, P Oh Sl Sl O 9 4y

Prove that :
1 1 1
1 + y 1 1| = v
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The equation of the sphere with center (w0 & 0 o) b3S @l 5,501 Dslae

(0.4,0) and touches xz-plane is
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@ Solve the following system of lincar gl 4SBT wll S
equations using the inverse matrix: ddghadl, gyl e Sadl
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If 30 ,70 ,6 are the direction angles of VA el o
. A oo o e L B

a-vector ,then one of the values of amdaleVILls) o

equals ... . e
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@ I'he measure of the angle between the two s B g

straight lines :
Ly: x=2-5k
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@ T'he two straight lines :
i =(124)+k,(2,-1,1).
7'2. = (1.2,4) + ,(2(—2,7,1 l)

@ skew

. perpendicular @ congruent
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@ Prove that the triangle whose vertices are l dazdl sy gINELI Gl oS
the points: (r.o.7) e rad) (T y)

(7,1,3),(5.3,4),(3,5,3) 15 an isosceles triangle. N e
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P ..,9;3\;,3,1;3":,:50;_;\5 13}

If €, is the angle formed by the straight line
I T B o

passes through the point (3;-1:1) and the
origin point with the positive direction of
the z-axis .then

cosll, =
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@ The length of the perpendicular drawn ezl 1y p gyl Spanll J gio
from the point (1,5,-4) (o the plane whose S g sl (8- 2 )
cquation : 3X -y +22=6 AEF A Sa” ST ARCEE
equals length unit
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Answer one of the following items: 1 Ol (0 5280 S G |
a-F |‘nd the different forms of the cquation 2 3\ad) Adlzseadl ) goct asmgl -l
of the plane passes through the point (- ov-or) el L 5 el
(2,-1,0) and the vector TNETSN. + - § = idsaat)
n =41+ 10 = 7k is perpendicular to it. e 65 gas

b- Find the mieasure of the angle - [N
O A A S oyl o
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between the two straight lines whose
direction ratios are (1,1.2) and
(V3-1,-V3-14)
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If the plane 3x + 2y + 4z = 12 cuts the el C.“‘” 13}
coordinate axes x,y,z at the points A |B and 2NN =P e+ o+ T
C respectively, Calculate the area of A ABC &y ~P ¢~ Dol
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